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NEW QUESTION 1
A user wants to create an ad hoc report with details of a set of assets. The user wants to build and display the report content as the final report design is built.
What feature enables the user to do this?

A. the Share? field

B. the Public? field

C. the Preview report button

D. the Run and Save Completed Report button

Answer: B

NEW QUESTION 2
A forecast has been made for a PM. The decision has been made to delete that forecast. In which case is the forecast blocked from being deleted?

A. A reforecast is pending.

B. The forecast dates are unlocked.

C. A forecast can always be deleted.

D. The forecast dates have been locked.

Answer: D

NEW QUESTION 3
A company would like to make full use of item assembly structures. To which of the following records can they be applied? (Choose three.)

A. ltems

B. Assets

C. Systems

D. Locations

E. Master PMs
F. Classifications

Answer: ABD

NEW QUESTION 4
A company has an asset that has failed and an administrator needs to create a work plan that includes exact steps and descriptions that need to be followed to get
the asset in operating status. Which option does the administrator need to follow?

A. Create follow up work orders

B. Create Job Plan from Work Plan

C. Create a work order and add actuals

D. Create a work order, add tasks and populate the summary field

Answer: D

NEW QUESTION 5
An administrator needs to enable a prompt in the Organizations application for users to enter the Failure Class when completing or closing work orders.
Which option is used to enable this?

A. PM

B. Asset

C. Work Type
D. Safety Plan

Answer: C

NEW QUESTION 6
A company wishes to apply an item assembly structure to a location. Which field on the location record is required for this to take place?

A. Asset

B. Spare Parts

C. Rotating Item

D. Hierarchical System

Answer: C

NEW QUESTION 7
A storeroom clerk is considering using item Kits to group items together that can be issued to work orders. Which of the following statements are true? (Choose
two.)

A. Can be assembled or disassembled across storerooms

B. Must contain condition-enabled, rotating, and lotted items

C. Are assembled in the Inventory or Inventory Usage applications

D. Disassembling decreases the balance of the item kit record and increases the balance of the individual components in the storeroom.
E. When adding to a storeroom, if the kit's component items do not exist in the storeroom, inventory records are created for these items.
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Answer: AE

NEW QUESTION 8

After creating and approving a non-contract related invoice for a previously received item, it was found that the item was defective and returned to the vendor.

Which process should be used to correct the invoice?
A. Cancel the invoice

B. Create a credit invoice

C. Create a reverse invoice

D. Cancel the associated purchase order

Answer: C

NEW QUESTION 9

A company requires that laborers record the actual time they spent on a work order. The labor hours recorded are not automatically approved and the company

does not want the laborer to have access to the Work Order Tracking application.

Which application would the laborers use?
A. Invoicing

B. Time Sheets

C. Labor Reporting

D. Activities and Tasks

Answer: C

NEW QUESTION 10

An administrator has been informed that a direct issue item for a work order is not required and need to be returned.

What does the administrator need to do?

A. From the Receiving application select items for Return

B. From the Storerooms application select Return Item to Main Storeroom
C. Form the Work Order Tracking application select Return Direct Issue Item
D. Create a return transaction type for the item in the Work Order Tracking application

Answer: D

NEW QUESTION 10

A rotating asset has been inspected and approved. The asset is then found to be faulty and needs to be returned to the vendor.
What will happen to the asset after it has been returned? (Choose two.)

A. Asset status will change to DECOMMISSIONED.
B. Asset record will be deleted after it has been returned.

C. Returned to Vendor checkbox has been selected and made read-only.
D. Asset status will change to INACTIVE when there is no inventory balance.
E. Asset will be changed to a non-rotating asset and no longer reside in the storeroom.

Answer: AE

NEW QUESTION 13

When a route is applied to a work order, which of the following is possible result?

A. A multilevel work order hierarchy

B. Job plan tasks under work order tasks

C. Areport of work order operational steps

D. Entries in the Assets, Locations and CI applications

Answer: D

NEW QUESTION 14

A user has created a request for quotation and sent it to vendors. After receiving the responses from the vendors, the user will need to create a purchase order.

What action must be performed before a purchase order can be created?

A. Purchase requisitions must first be created.
B. Status of the request for quotation must be APPR.

C. Request for quotation lines must be awarded to a vendor.
D. Vendor quotation receipt transactions must be completed.

Answer: B

NEW QUESTION 17

At what level are service items defined?
A. Set

B. Site
C. System
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D. Organization

Answer: A

NEW QUESTION 20
A company has a requirement to present an informational dialog box to the user at run time.
Which of the following would be used in the workflow process design?

A. a wait node

B. an interaction node

C. an accept action with a notification

D. a manual input with a long description

Answer: D

NEW QUESTION 21
A user tries to edit a meter in the Manage Meter Reading History dialog in the Assets application but finds that all the fields are read only.
Which of these meter types can be modified through this dialog?

A. DIAL

B. GAUGE

C. CONTINUOUS

D. CHARACTERISTIC

Answer: C

NEW QUESTION 23
Incorrect meter readings have been taken for gauge meters and characteristic meters. The system administrator has been asked to correct the mistake.
How can the meter readings be corrected?

A. Add a new meter reading in the Assets application.

B. Add the correct meter readings in the Meters application.

C. Add the correct meter readings in the Meter Reading application.

D. Add the correct meter readings in the Preventive Maintenance application.

Answer: A

NEW QUESTION 26
Which setting is used to ensure that an inventory item has a positive balance in a storeroom at all times?

A. Safety Stock

B. Critical On Hand

C. Storeroom Minimum Stock
D. Minimum Balance Required

Answer: A

NEW QUESTION 28
What costing method should be used if the receipt cost of items that are the oldest in stock is required?

A. LIFO
B. FIFO
C. Average
D. Standard

Answer: B

NEW QUESTION 31
A supervisor is required to report actual work hours by work order number. With which statuses can this be accomplished? (Choose two.)

A. INPRG

B. WAPPR

C. CANCEL

D. PNDREV
E. COMPLETE

Answer: AB

NEW QUESTION 34

Which technique or setting will an administrator use to prevent a PM from being modified by its Master PM?
A. The Override Updates flag on the PM

B. The PM options dialog of Organizations

C. A data restriction on the Master PM object
D. The Lock Forecast Dates action on the PM
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Answer: A

NEW QUESTION 35
A company needs to add the unit of measures for items, tool and services. In which application can this be done?

A. Receiving

B. Storerooms

C. Asset Templates

D. Request for Quotations

Answer: A

NEW QUESTION 38

A buyer runs a BIRT report which details Supplier Compliance. The buyer needs to further analyze the data in a spreadsheet to include an additional graph before
reviewing the information with the manager.

Which process transforms the data?

A. Export

B. Preview

C. Application Export

D. Report Transformation

Answer: D

NEW QUESTION 40
An administrator is setting up security to enforce site specific restrictions. What type of security group does the administrator need to create?

A. Maxadmin

B. Independent

C. Administrator

D. Allow restrictions

Answer: A

NEW QUESTION 41
A supervisor has a requirement to group labor transactions by work order number while creating invoices in Labor Reporting.
How can this be achieved?

A. Check the Consolidate by Work Order checkbox for each transaction.
B. Enter the work order number, then enter each associated transaction.
C. Check the Group Labor by Work Order checkbox for each transaction.
D. Create an invoice for each work order, then enter each associated transaction.

Answer: B

NEW QUESTION 42
A planner has a requirement to track records via the Inventory application as well as the Assets application. What type of item can be used to track these records?

A. rotating

B. material

C. standard

D. non-rotating

Answer: A

NEW QUESTION 43
An administrator has a requirement to add a new meter to 100 existing assets that each share a common configuration.
Which application can do this with a single action?

A. Assets

B. Meters

C. Item Master

D. Asset Templates

Answer: D

NEW QUESTION 45

A company wishes to configure Maximo so that meter readings automatically create work orders based on condition monitoring points. The company has already
configured the system in Organizational settings and created the appropriate condition monitoring points.

What additionally needs to be configured for this be accomplish?

A. Any meter should be added to the asset and the ConditionMonWoGenCronTask should be active e

B. A continuous type meter should be added to an asset and the PMWOGenCronTask should be active.

C. A gauge type meter should be added to an asset and the MeasurePointWoGenCronTask should be active.

D. A characteristic type meter should be added to an asset and the ConditionMonWoGenCronTask should be active.
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Answer: B

NEW QUESTION 46
A custom field has been added to the Work Order Tracking application to identify the inspector for environmental impacts of each work order.
What type of role is used to assign the work order to the environmental inspector?

A. Person

B. Person Group

C. A set of data related to the record

D. A set of data related to the login user

Answer: A

NEW QUESTION 48
A company has a requirement to share calendar, classification, job plan, item description and PM data. What needs to be created?

A. Single organization, single site environment

B. Multiple organizations with a shared site environment

C. Multiple organizations with one site per organization environment

D. Multiple organizations with multiple sites per organization environment

Answer: A

NEW QUESTION 53

A user makes changes to a work order record and saves. The screen shows an error dialog that displays “Record has been updated by another user, refetch and
try again.”.

How can the user avoid this error?

A. Use edit mode for the mode order

B. Save the work order before making changes

C. Send a bulletin board message to other users

D. Ask the database administrator to lock the work order

Answer: B

NEW QUESTION 54
Where can an end user see in-depth details of a KPI, including its long description, communication logs and configurable historical trending?

A. KPI Viewer
B. Start Center
C. KPI Manager
D. KPI Template

Answer: C

NEW QUESTION 55
A company wants to create a rotating (serialized) tool to issue to a Labor or Work Order. Which of the following tasks are necessary?

A. Insert new record in the Tools application, check the Rotating checkbox, add to Storeroom.

B. Insert new record in the Stocked Tools application, check the Rotating checkbox, add to Storeroom.

C. Insert new record in the Item Master application, check the Rotating checkbox, add the record to Tools application.

D. Insert new record in the Item Master application, check the Rotating checkbox, add the record to Stocked Tools application.

Answer: A

NEW QUESTION 56
A work order has the Originating Record field populated.
What Relationship would be seen for the work order listed on the Related Records tab?

A. PARENT

B. RELATED

C. FOLLOWUP
D. ORIGINATOR

Answer: B

NEW QUESTION 60

An engineer schedules a very complex asset report developed in BIRT. The engineer needs to set a feature to be able to retrieve the report contents from within
Maximo for very large files that are restricted by the email server.

Which feature does this?

A. Direct Print

B. Email with a File URL

C. Email with a File Attachment

D. REPORTSCHEDULE cron task
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Answer: D

NEW QUESTION 63
An approved work order has been assigned an incorrect job plan. How do you correct this?

A. Change the Job Plan Revision to the correct revision.

B. Clear the Job Plan field and enter the correct job plan.

C. Create a Follow-up work order with the correct job plan.

D. Select Remove Work Plan from the More Actions menu and enter the correct job plan.

Answer: D

NEW QUESTION 65
An Administrator needs to return a rotating asset to a vendor. When clicking on Select Rotating Assets for Return, there are no records to be returned.
Why are the records missing?

A. The asset is not a rotating asset.

B. The rotating asset has not been received.

C. The rotating asset was a direct issue item.

D. The rotating asset was received and has been moved.

Answer: D

NEW QUESTION 66

Cutover work from cooling to heating is performed on the air handling units during the month of October each year. A requirement is to have the PM record
generate Work Orders every Sunday during October.

What settings are necessary?

A. Frequency = 1, Frequency Units = MONTHS, and Active Dates values entered on the Seasonal Dates tab

B. Frequency = 7, Frequency Units = DAYS, and Active Days and Dates values entered on the Seasonal Dates tab

C. Frequency = 7, Frequency Units = DAYS, and Generate Work Order When Meter Frequency is Reached checked

D. Frequency = 1, Frequency Units = WEEKS, and Use Last Work Order's Start Date to Calculate Next Due Date checked

Answer: B

NEW QUESTION 68
To minimize Start Center load times, end users can see detailed KPI information from which application?

A. Analytics

B. KPI Viewer

C. KPI Manager
D. KPI Templates

Answer: B

NEW QUESTION 69

A user has created a work order against asset ABC. A technician determines that asset ABC is faulty and it needs to be replaced. The technician replaces asset
ABC at the operating location with asset XYZ from a repair location.

What happens after the swap?

A. Asset locations have been swapped.

B. Asset identifiers have been swapped.

C. Inventory locations of the assets have been swapped.

D. The faulty asset ABC status at the operating location gets updated to OBSOLETE.

Answer: A

NEW QUESTION 70
A company has a requirement to segment accounting periods by specifying the start date and close date. In which application can this be done?

A. Financial Periods

B. Cost Management

C. Chart of Accounts

D. Database Configuration

Answer: C

NEW QUESTION 75
An administrator needs to report failures that are occuring on a monthly basis. There is a requirement to use the Failure Class to report these failures.
Which applications can accomplish this?

A. Hazards, Precautions, Job Plans

B. Assets, Locations, Work Order Tracking

C. Job Plans, Routes, Work Order Tracking

D. Preventive Maintenance, Condition Monitoring, Safety Plans
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Answer: B

NEW QUESTION 76
Which of the following settings values will determine the number of items to be ordered during the reorder process?

A. Safety Stock

B. Reorder Point

C. Conversion Factor

D. Economic Order Quantity

Answer: B

NEW QUESTION 78

A workflow process design requires that the record be sent to the QA group if the QA Required field (a custom field) is checked. Otherwise it can continue on to the
production department.

What type of node is used to enable this?

A. Decision

B. Condition
C. Interaction
D. Subprocess

Answer: B

NEW QUESTION 81
An asset requires maintenance on a monthly, quarterly and annual basis. Three job plans have been created to meet this requirement called MONTHLY,
QUARTERLY and ANNUAL. What is the correct job plan sequence that needs to be used?

A. MONTHLY=1, QUARTERLY=4, ANNUAL=1

B. MONTHLY=12, QUARTERLY=4, ANNUAL=1
C. MONTHLY=3, QUARTERLY=4, ANNUAL=12
D. MONTHLY=1, QUARTERLY=3, ANNUAL=12

Answer: A

NEW QUESTION 82
An administrator has a requirement to create 44 new assets that each share a common configuration. Which application can do this with a single action?

A. Assets

B. Iltem Master

C. Classifications
D. Asset Templates

Answer: D

NEW QUESTION 84
A company has a requirement to have labor certificates defined. In which application can this be done?

A. Crews
B. People
C. Certifications
D. Qualifications

Answer: D

NEW QUESTION 86
A planner has a high priority work order which is going to consume an item with limited availability and wants to ensure that the item is dedicated to this work order.
What type of reservation should the planner use?

A. SOFT

B. HARD

C. APSOFT

D. BACKORDER

Answer: B

NEW QUESTION 89

A company has a requirement to identify and characterize similar assets. In which application can this be done?
A. Sets

B. Actions

C. Domains

D. Classifications

Answer: D
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NEW QUESTION 90
Which tab provides a graphical representation of an asset and its relationships?

A. Features
B. Topology
C. Relationships
D. Specifications

Answer: B

NEW QUESTION 95
A company is using Process Flow Control to ensure the tasks are done in the proper order. By default, which status indicated the next task to be worked on?

A. APRP

B. COMP

C. INPRG

D. WPCOND

Answer: C

NEW QUESTION 100
A company wants to trigger a PM based on a characteristic type meter. How can this be accomplished?

A. Create a master PM and link to the characteristic on the Related Records tab.

B. Create a condition monitoring point and specify the PM on the upper or lower limit.

C. Create a PM against the asset and specify the meter on the Frequency tab of the PM.
D. Create an escalation based on the characteristic meter and trigger the PM via an action.

Answer: B

NEW QUESTION 101
An item has been flagged as rotating by mistake. The rotating checkbox is read-only and the rotating item has been associated with assets. How can the rotating
item be changed to a non-rotating item?

A. Remove the Item Number from the asset
B. Ensure that there is no inventory balance.
C. Move the assets to non-inventory location
D. Ensure that there is no inventory balance.
E. Issue the assets to non-inventory location
F. Ensure that there is no inventory balance.
G. Transfer the assets to non-inventory location
H. Ensure that there is no inventory balance.

Answer: A

NEW QUESTION 103

A storeroom clerk is processing items to be shipped to various locations. In the Inventory Usage application, while processing one of these items, the Split Usage
Quantity dialog is displayed and the clerk selects the Auto-Split option.

What is validated?

A. A rotating item is requested and the quantity is more than one.

B. The inventory balance for the item is greater than the ordered quantity.

C. A lotted item with the same quantity has been selected on another usage line.

D. The quantity in a storage bin already meets the required quantity on the Inventory Usage line.

Answer: C

NEW QUESTION 106
A company needs to ensure that the manufacturer's recommended maintenance schedule is accomplished for each asset associated to a warranty contract. How
can this be done?

A. Attaching the Master PM Schedule to the Contract using Document Links

B. Identify the Unit of Measure and Meter Duration on the Contract Lines Tab

C. Entering the recommended maintenance schedule on the Terms and Conditions Tab

D. Entering the meter reading in the Master Section for the asset on the Warranty Contract.

Answer: A

NEW QUESTION 110
A company wishes to create a location that is used during the receiving process when inspection occurs. Which type of location is used?

A. A HOLDING location at the SITE level.

B. A CLEARING location at the ORG level.

C. A RECEIVING location at the SITE level.
D. An INSPECTION location at the ORG level.
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Answer: A

NEW QUESTION 112
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